












































































































Ex I Solve 2x t 3 C 11

2x Il 3
2x c 8

x c Ee
X C 4

Ex 2 5 c l 3 3 1 9

5 sc Tx 7 1 9 t l

2x 7 lo

x Z Iz
X Z 5

Ex 3 4 x I C 7 8

4 x Tx L 8 1 I

3 c L 9

x I

x s 3

Dividing or multiplying an inequality by
a negative number reverses the inequality

Inequalities Revision























O J
X 2 I l l l l l l

0 I 2 3 a 5 6

SC E5 L
I l l l l l l
0 I 2 3 a 5 6

I 2 4 0
I l l l l l l
0 I 2 3 a 5 6

Find the integers which satisfy

i E X Ed 1 2 3,4

ii 3C x El 2 I O 1

iii 7 x C Z 7 6 5 4 3

iv 12 23 0 I 2

Inequalities on the number line



ye 2 YE xXE l K
n

a

Shade area where 6

x 3 3

y E 2 y 2

xtyE6 s x y 6

x 3

Graphical Inequalities



y x x 2g E 8
XtyE4 Y 30

X E5
E5

xx 4 3 0
set23 8

Six

Ext 4 E X t 3 E 8

4 3 E K E 8 3

I E K E 5

l l l l l l 7
0 I 2 3 45 6

Ex2 2 3211
I 3 E 2x L 11 3

Z E 2x C 8
Z E X L I
z Z

Harder inequalities on the number line



1 Ex C 4

0
I l l l l l l l l
z I O l 2 3 45 6

Ex3 3 3 118
3 C
3

CIEGO
I l l l l l l l l
z I O l 2 3 45 6

Exa 2x 1 L 9

1 1 E 2x 91 1

Z E 2x C lo

Zz E 2e C

I E X 5

o
l l l l l l l l l
z I O l 2 3 45 6



Ex 5 2x 3311
2 711 3

2x 714
x If I l l l l l
X 77 4 5 67 8 a


